1. What is the most effective way to revise sentence 1?

a.

The Assyrians were successful in their attacks on enemy
cities because they planned their attacks in stages, they used
engineers and archers and foot soldiers.

The Assyrians were successful in their attacks on enemy
cities because they planned their attacks in stages and used

engineers, archers, and foot soldiers.

. The Assyrians were successful in their attacks on enemy

cities because they planned their attacks in stages, and
because they used engineers, archers, and foot soldiers.
The Assyrians were successful in their attacks on enemy
cities because they planned their attacks in stages because

they used engineers, archers, and foot soldiers.

2. What change if any should be made in sentence 8?

a

b.

o

o

Change the first their to there
Change signaled to signaled
Change sfrung to stringed

Make no change

3. What is the best way to improve the organization of the fourth

paragraph (sentences 10-13)?

a.

b.

(@]

Move the last sentence to the beginning
Add transition words
Move the first sentence to the end

Add additional facts



